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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) wligreff gedvey 393 -9 9 A ey fod |

Candidates must first write their Roll Nos. on the question paper compulsorily.

2) wmﬁamaﬂaﬁ%l

All the questions are compulsory.

(3) T T F1 I § T IR-gfrm F & ford |
Write the answer to each question in the given answer-book only.
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: e : e place.
Answers of the questions with internal division should be written at on . p

R T 1 3 6 7% (e ) 3 e e T - gfen 3 e |

Draw a table in your answer-book and give answers of Question Numbers 1 to 6

(M.C.Q.’s) in it.

o st 3 s e oifea E |

Weightage of the question is written infront of the question.

-3 3 faedt afit ol wai § et weem it 3/ afer/ Rrdemme 8% o 2= v
& weT & E wd A |

If there is any error/difference/contradiction in Hindi and English versions of the

question paper, the qﬁestion of Hindi version should be treated valid.
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The additive inverse of % is
@ 3 | )
(c) % @
foud sio 2 -
P -
3 3 ()
@ SP+4 @
The binomial expression is
@ % (®)
(c) 5P+4 (d)
v # feprdl Y g Bt @ -
) 8 )
@ 4 @)
Number of edges in a cuboid
(@) 8 (b)
(c) 4 (d)
TR F T R A & -
(31) TR Q)
(@) dEH @
Adjacent angles of a parallelogram are
(a) equal (b)
(c) right angle (d)
UP-09-Maths.
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m2+2m+5

T ¥ HIE TE

m>+2m+35

None of these

el
T @ i

supplement
None of these
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5. - ST GRS o Ve A H G € -
(30 180°(n-2) @) 90°(n-2)
(n-2) 180° @ 360°
® n n
The formula of each interior angle of n-sided regular polygon 15
(@) 180° (n-2) () 90°(@n-2)
= ° 360°
o @=218° @ B
n i

6. e feraeer SwTeR O R 3T A R R -

1 1
() 6 (%) 2
1
® 3 @ 1
The probability of getting head on throwing a coin is
' 1 1
@ % - - ® 3
-1
© 3 d 1

7. 1680000000 T WS Y (I Hoha) ﬁm&aﬁﬁm-u

Express 1680000000 in standard form (Scientific Notation).
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8. ﬁﬁ%@ﬂﬁ@ﬁu%q&!%lﬁﬁﬁ%qmw%|@Hﬁwq&ﬁﬁm
- AR |

There are 1275 trees in total in the field of Mohan. There are 36% trees that ﬁave

fruits. Determine number of trees having fruits in the field.
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9. (x-8) 33y + 5)® PIHRIT |

' 2
Multiply (x - 8) and (3y + 5).
10, et s 3 o o x A TR A
Find the value of unknown angle x in the following figure :
2

1I1. m%ﬁﬁﬁm—s%ﬁmﬁhﬁwaﬁﬁﬂ@%m(ﬁﬁﬁ),mgmﬁ
aafume ¥ | e T Peafiea st & st i
Y

32 - ',——|

28 -

Em- u

20 -

£ L
%12-
||

4-4

017723456
RIS R

(i) aﬁﬂﬂﬁaﬂﬁﬁ%ﬂaﬁwﬁﬁ? .
(ii) s 71 5 6t & u ww o T e A wgrd < 7
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In holidays number of study hours everyday of students 0
graph. Answer the following questions by seeing the graph.
Y

f class 8 is shown in the

324 ’-—

8 -~
0 123456 X
Number of Study hours per day

(t) How many hours did most of students studied ? .
(i) How many students studied for 5 or less than 5 hours ? 2

12. WA 3 $ifsm
(i) 3Zx33
(i) (5'x27h)+6
Find the value :
(i) 32x33
i) (5P x 27+ 6

2+2=4

el
e

FeftnaT g 1 39 w5 e i -
101 x 105

Multiply by using Urdhwtirygbhyaam formula :
101 x 105

14, ﬁw%mmﬁwﬁ(*)mxmm_mﬁﬁq:
. o %
(1) e
+ 95

16

———

8
X
408

—_————

(=
~J3

(i)

x
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Find the value of x or () in following questions :
(1) 2%
*8
+ 95
167
(i) 68
x X
408.
2+2=4
15. Prfufas saor % UHEUE HIfC :
(i) a?-49b°
(i) x*+5x+6
Factorize the following expressions :
(i) a%-49b? |
+2=4
(i) x2+5x+6 2+ 2
16. ¥R PQRS IR R, x 7T y 3 W 1 HI | (otad Aft. HR)
S 26 R
Ix 18
P 3y - 1 Q _
Figure PQRS is parallelogram. Find the value of x and y. (length in cm)
: Iy _
S R
Ix | 18
p Jy -1 Q ' 4
{Turn over
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17. Wﬂmﬂﬁﬂwﬁm34ﬂﬂﬁisﬂtmﬁdﬁd4ﬂiﬁ% | w4 @
@Waﬁtmmﬁﬂ?-%zﬁ@ﬁmgmﬁM*ﬂmﬁml

The area and height of the trapezium are 34 cm?® and 4 cm. One of its parallel side
is 10 cm. Find the length of other parallel side.

(i8) o i i v S 8 o R | AR s 17 s R e AR
lmﬁmmﬁzﬁ%mﬁmﬁ.aﬁqﬂﬂummﬁﬁﬁm

Denominator of a rational number exceeds its numerator by 8. If 17 is added to
3 . )
numerator and 1 is subtracted from denominator, then we get 5 . Find the rational

number. http://www.rbseonline.com : : 4

19. I9ge wdulie % 3w @ g Prefelea 1 7@ s Hifr
(1) (Sa-T)(5a-7)
(ii) 99°
Using suitable identity, evaluate the following :
(i) (Sa-T7)(5a-7)
(i) 99° 2+2=4

20. fr= v fel i wea (9t Y firemat) & et A SRRy s T

(i)
(i1)
UP-09-Matbs.
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By foldi . .
M Ing the expanded f gure (joining the faces), draw the solid figure.

(1)

(i1) -

2+2=4

21, 3 fw o wrd-ar & ared S H R Takel @ utar T R | -

mﬂﬁmﬁﬁ‘aﬂmﬂ%mﬂﬁw

i) T e I erdt & fena i geiemd Bl & 2

mﬁmﬂmﬁ
(689)
gravara faadi £
azerl T (239 .
( 2.3% AT 57T HEAT (52)

> | 9% H=Teh b TUIFT (44)
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Various mistakes of vehicle drivers are shown in pie chart. With the help of pie
chart, answer the following questions :
(i) Percentage of accidents by mistakes of vehicle drivers ?

(ii) How many people underwent accident due to disobedience of traffic rules ?

Mistakes of Vehicle drivers
(689)

Disobedience of traffic
rules (239)

—> 2.3% Indiscipline (52)
—> 1.9% Sudden
Braking (44)

Driving Fast
(616)

Unknown Reasons

0.3% (657)

Drink and Dnive

@ TS I GRT FYL & AR ST =Teedt 2 |
() IR FR = 90 fFft. 5o & 5 wiet W i sEvIHa B 20 it e §
farerft gt o =vuft 2
(ii) S T 60 Forrlt. whty ger it st a1 | TR 6 T H AR F AR Igdh
? | 9199 Fiea T SR Y FHied =i w41 @ afe 39 4 9 e ?
gt _
1,800 T9 1 10% a1 st it & 114 a8 %1 Fhafe = 7 Hifsre, Jerfes
sk rciitos

Bhavna wants to move from Jaipur to Jalore by car.

(i) If car requires 5 litre petrol for moving a distance of 90 km, then what
distance it will travel in 20 litres ? '

(i1) While reaching Jalore from Jaipur after travelling 6 hours with an average

speed of 60 km/hr, what will be the average speed while returning if it takes
4 hours ?

WOd UIUOASqI mma//:dpy

- OR ,
Calculate compound interest on ¥ 1,800 for 1'2 year at the rate of interest 10%
p.a., when interest is accumulated half vearly.
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23. W%@aﬂammﬁm(ﬁaﬁ)anﬁﬁﬁ4wm%mﬁﬁaaﬁmﬁ

m@“‘ﬁﬁﬁﬁwaﬁlgﬁmmﬁml

IOOR

'S

35

15

Vi ———"

- PN
AYEr .

w11 T, x 4 Af. F FEAHR FI B g (R fre) w4 & S 16

1 S AT T R | FHT S T BT |

The measurement of each part of the farm of Ramlal is giiren (in metres) in the

figure. Find the total cost of ploughing at the rate of % 4 per square metre. 6
100 R
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P (From 0T)
OR

4 ¢cm high cylinder is férmed after folding (without overlapping) 11 cm x 4 em

rectangular paper. Find its volume.

UP-09-Maths. ITu iover
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24, ' wrEs BEST 6 A i fred BE = 4.
farapot BS &1 wrg yma Hifore |

5 3ft. 3 ET =60 ¥R €1

Y4l

WABCDﬁmEﬁﬁEWﬁAB=BC=4.Gﬁ.,AD=CD=6.0ﬁIﬁ.HEIT
ZABC=120°80 1"~ - |

Construct a thombus BEST in which BE = 4.5 ¢cm and ET = 6.0 cm. Thep find

measure of the diagonal BS. 6

.OR

Construct a quadrilateral ABCD in which AB = BC =4.0 cm. AD =CD = 6.0 ¢m
and £ABC =120°.

25. frer anfret  SrgER W 3R G ST % Hey STTeRg WY -

| (1) lad | 2a¥ | 3ad | 499 | S

QYR & (1) T60 | T 120 [ X180 | ¥240 | T 300

According to the following table, draw the graph between time and simple
interest : '

Time (t) lyr. | 2yr. | 3yr. | 4yr. | Syr.

Simple Interest (I) | 360 | 2120 | 2180 | 240 | %300
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